

$$n \begin{matrix} \downarrow \\ \mathbb{K} \\ \uparrow \end{matrix}$$

$$\mathbb{k}^j = \sum_i^{|j|} \mathbb{k}^i = \sum_{i \leq j} \mathbb{k}^i \begin{matrix} \xleftrightarrow{\text{Zeilen}} \\ \xleftrightarrow{\text{Moeb inv}} \end{matrix} \mathbb{k}^j = \mathbb{k}^j - \mathbb{k}^{j-}$$

$$\mathbb{k}^j = \sum_i^{|j|} \mathbb{k}^i = \sum_{i \leq j} \mathbb{k}^i \begin{matrix} \xleftrightarrow{\text{Zeilen}} \\ \xleftrightarrow{\text{Moeb inv}} \end{matrix} \mathbb{k}^j = \sum_{i \leq j} \mathbb{k}^{i \stackrel{-1}{\leq} j} = \mathbb{k}^j - \mathbb{k}^{j-}$$